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after you mampuiate ‘the amountvofwihitstRankecednvariety. iWhidlir ssRehkefeldvwing is

correct?

A. we randomized the plants to plots to eliminate any effect of hidden vanables

B. we could determine the best combination of water and seed variety by
examining the difference in the plant height in the final week of the experiment

C. the variability in growth among plants of the same variety who received the
same amount of water was constant over time

D. the growth of a particular plant in week 3 is likely to be independent (unrelated)
of the growth of the same plant in week 2

128206828323, A
12820625824 B
1282062835, C
12820625826, D

The concentration of end product of a reaction is quantified in a colorimeter. For a 1 em
path length cuvette, 20% of the incident light intensity is absorbed. If the path length 1s
increased to 2 cm, the percentage of light transmutted is

A. 36

B. 64

C. 56

D. 95

12820682837, A
1282062838 B
12820625839, C
12820625840, D

A farmer growing a particular variety of grape plants in vineyard, observes the following:
P. Fruit size normally remained small.
Q. Natural seed abortion.
R. Development of fungal infection as the pedicels are small in size due to which
moisture 1s retained in the bunches of grapes.
Experts suggested spraying gibberellic acid during the fruit development. This treatment would
help in getting rid of
A P,Qand R
B. only Pand Q

C. only Pand K
D. only Q and R www.FirstRanker.com
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1282062842 B
1282062843, C
1282062844, D
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Possible explanations for the age-related decline in primary productivity of trees are:

P. As trees grow larger with age, they have more tissues that respire and loose energy
and proportionately less leaf area to photosynthesize.

Q. Nutnent limitation by nitrogen due to reduced rate of woody litter decomposition as
forest ages.

R. As trees become larger, water transport to the top canopy leaves becomes limited
because of increased hydraulic resistance. This results in reduced stomatal
conductance and reduction in photosynthetic rate.

Which of the above is/are correct?

A P,QandR

B. OnlyP

C. OnlyPand R

D. Only Q and R

12820625845 A
12820625846, B
1282062847, C
12820625845, D

Demography is the science of
A. Population
B. Biotic interactions
C. Abioic interactions
D. Both biotic and abiotic interactions

12820625849 A
12820625850 B
1282062851, C
1282062852, I

www.FirstRanker.com
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B. Trees
C. Sewage treatment
D. Ornamental plants

1282062853, A
1282062854 B
12820682855, C
1282062856, D

www.FirstRanker.com

Soil type A 1s good and soil type B is bad for rice. This is an example of

A. Nominal scale

B. Ordinal scale

C. Interval scale

D. Both nominal and ordinal scale

12820682857, A
12820682858, B
1282062859, C
12820625860, D

For preparing 1 N solution of a substance, we need to know
A. Only its equivalent weight
B. Only its Molecular weight
C. Both equivalent weight and molecular weight.
D. Its equvalent weight and also density of water

1282062861, A
12820625862, B
12820682863, C
1282062864, D
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WA 1serd sahl sepakating proteins by polyacrylamide gel electrophoresis because
A. It helps in proteins solubilizatioff 18 gégfgaggﬁéfa%n www.FirstRanker.com

B. It helps in providing umform negative charge density during electrophoresis
C. It helps in stabilization of proteins

D. It decreases the surface tension of electrophoresis buffer

12820682865, A
1282062566 B
1282062867, C
1282062868, D

. An abstract is a part of
A. Research article
B. Conference proceedings
C. Thesis
D. All of these

12820625869, A
12820682870, B
12820625871, C
1282062872 D

. ISBN relates to

A. Books

B. Research articles
C. News magazine
D. All of these

12820625873 A
1282062874 B
1282062875, C
1282082876, D
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A cames mugEescampy awork on a principle in which molecules absorb light of
A. Different wavelengths www.FirstRanker.com www.FirstRanker.com
B. Constant wavelength
C. Absorb at a given wavelength and then emit 1t at a longer wavelength

D. Absorb at a given wavelength and then emit it at a shorter wavelength

1282062877 A
12820682875, B
12820628739, C
1282062880, D

Which one is a plagiarism software?
A. Norton

B. End Note

C. Graph prism

D. Turmtin

1282062881, A
1282062882 B
1282062883, C
1282062884, I

Among these. which statement is correct?
A. To mimimize the standard deviation the sample size should be decreased

B. To minmize the standard deviation the sample size should be increased
C. Standard deviation will not depend on sample size
D. Standard deviation will always be proportional to sample size

1282062885, A
1282062856, B
1282062887, C
1282062888, D

www.FirstRanker.com
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B. Atomc absorption spectrometer (AAS)

C. Inductively Coupled Plasma Optical emission spectrometer (IPC-OES)

D. AAS coupled with VG assembly

1282062889, A
1282062330 B
12820628391, C
1282062892, I

An analyst made following observations for Fe and Cu concentrations (in ppm units) in
standard of soil

Fe Cu
True value 56 40
Observation 1 60 40
Observation 2 60 30
Observation 3 60 50

Which of the following is NOT correct?
A. Fe analysis have ~4% error
B. Average Cu concentration 1s matching with true value
C. Cu analysis showed high precision
D. Fe analysis showed high precision

12820625893, A
12820628394 B
1282062835, C
12820628396, D

. Which of the following gases is not used in atomic absorption spectrometer?
A. Air-acetylene
B. Argon
C. Nitrous oxide-air
D. Nitrogen

12820682897 A
1282062895 B
12820625893, C
1282082300, D

www.FirstRanker.com
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A sample must be representative in nature. Representative sample means:

Sample similar to the population in all respects

Replica of the population for some characteristics

Sample which is smaller in size than population

Sample whose concentrations are similar is population mean within sampling error

limits

oO®m e

1282062301, A
12820682302 B
1282062303, C
1282062304, D

The soil sampling conducted by Pramod could include all types of soil samples in the
given area will fixed boundaries in the equal proportion. The sampling technique 1s called as

A. Convenience sampling technique

B. Purposive sampling technique

C. Probability sampling technique

D. Pre-divided sampling techmque

1282062305, A
12820682306, B
1282062307, C
1282062308, D

. How to identify the chemical weathering process in the geological formation?
A. the splitting of a boulder
B. the grinding of pebbles into sand
C. the cleavage of a feldspar crystal
D. the rusting of homblende

12820623059 A
1282062310 B
12820623911, C
1282062312 D

www.FirstRanker.com
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Vg as 1t nan-destructive elemental analysis with the capability to pinpoint
individual particles with diameters JOWhTSTBIMELTUBe www.FirstRanker.com
A AAS
B. UV Spectrophotometer
C. EDXRF
D. Anodic Stripping Voltammetry

1282062313 A
12820623914 E
1282062315, C
1282062316, I

Which dense hqud 1s used to separate zircon and rutile from quartz and feldspar in
sediments?
A. Methyline iodide
B. Bromoform
C. Lithium based tungstate
D. Methyl chlonde

12820823917 A
1282062318 B
1282062313, C
1282082320, D

Which mineral 1s observed under microscope that has optical properties : colourless, non-
pleochroic, prismatic, euheadral to subhedral grain with prominent crystalline face :
A. quartz
B. Magnetite
C. Titanite
D. Zircon

1282062321 A
1282062322 B
12820623923, C
1282062324, I

www.FirstRanker.com
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B. Devoman
C. Cambnan
D. Jurassic

12820623925 A
1282062326, B
1282082327 C
1282062328 D

Generally which size fraction of sediment/regolith is generally chosen for the
sedimentary geochemical studies :
A. 37 micron
B. 63 micron
C. 47 micron
D. 125 micron

1282062329 A
12820682320 B
1282062321, C
12820623932 D

What is a research design?
A. A method of conducting research that is not solved by theoretical calculation
B. The choice between using qualitative or quantitative methods
C. The method by which we present your research findings, e.g. a graph, a table
D. An outline for every stage of the collection and analysis of data

1282062323, A
1282062324 B
12820623325, C
1282062336, D

www.FirstRanker.com
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b=3.6—1.b+2,b+3,b+4

oowp
S h W

12820682337 A
1282062325 B
12820623329, C
12820623940 D

The average (arithmetic mean) high temperature for X days is 70 degrees. The addition
of one day with a high temperature of 75 degrees increases the average to 71 degrees.
What 1s the value of X?
A 5

4
10
1

= Rl

1282062341 A
1282062342 B
1282062343, C
1282062344, D

Which one of the followings 1s used in simple titration
A Litmus

B. Conductivity meter

C. Indicator

D. Resin

1282062345 A
1282062346, B
12820682347 C
1282062345, D

www.FirstRanker.com
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B. Visible
C. Microwave
D. Ultraviolet

1282062343 A
12820682350, B
1282062351, C
1282062352, D

. If ELR and DALR represent environmental lapse rate and dry adiabatic lapse rate,
respectively, which of the following statement is correct?
A. ELR>DALR indicates stable atmosphere.
B. ELR=DALR indicates highly unstable atmosphere.
C. ELR<DALR indicates unstable atmosphere.
D. ELR>DALR indicates unstable atmosphere.

1282062353, A
1282062354 B
12820682355, C
1282062356, D

Mathematically, the logistic curve for population growth 1s derived from differential
equation, dN/dt = N [1-(N/K)] where “N’ 1s population size, ‘K’ is carrving capacity of the
environment and ‘r’isthe................

A. Environmental resistance constant
B. Population explosion constant

. Logarithmic growth rate constant
D. Exponential growth rate constant

1282082357 A
1282062358 B
1282062359, C
1282062360, D
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&sﬁﬁgtféf‘ Eefferemdes betweep the gneaps ehiwggelated popwations. the myl,
hypothesis states that

A. the difference between the two population means 1s not significantly dafferent
from zero

B. the population mean difference is significantly greater than zero

C. the difference between the two population means 1s sigmficantly greater than
ZETO

D. the population mean difference is not significantly different from zero

1282062361, A
1282062962 B
1282062363, C
12820682364, I

Given below are a set of statistical methods/parameters (Column A) and their potential
applications/utility in biological research (Column B), in a random manner.

Column A Column B

P. | Variance 1. | Measures strength of association between two
variables.

Q. | Correlation coefficient | 2. | Prediction of value of a dependent variable based on
known value of an associated variable.

R. | Regression analysis 3. | Calculation of deviation between observed and
expected values.

S. | Chi-square analysis 4. | Calculate the spread of a distribution.

Which of the following options is a correct match of entries in column A and B?
& P04 B-1.53
B. P-3, Q-2,R4, S-1
C. P-4, Q-1,R-2, 83
D. P-1, Q-3,R-2, S+4
1282062965, A
1282062966, B
1282062967, C
1282062968, D

www.FirstRanker.com
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mﬂng microbial organisms are involved in three

1. Rhizobium 2. Nitrosomonas 3. Nitrobacter 4. Pseudomonas 5. Azotobacter

Which of the following is the correctly matched pair of process and ifs causative
species?

A. Denitrification - (2); nitrogen fixation - (3) and (4); nitrification - (4)
B. Denitrification - (4); nitrogen fixation - (1) and (5); nitrification - (3)
C. Denitrification - (5); mtrogen fixation - (1) and (4); nitrification - (4)
D. Denitrification - (2); mitrogen fixation - (1) and (4); mitrification - (3)

1282062369 A
1282062970 B
12820623971, C
12820623972 D

Biologists randomly sampled about 3000 insects from a newly found island. The
distribution of their abundance in the sample was as in the figure given below:

of Spadms —

MNumilser

1 2-3 i4-7 B8/-15 16-31 31-64 >64

Number of individualsin the sample —

Which of the following can be correctly inferred from the graph?

>

Many species have only one individual each on the island.

The bar on the extreme right represents a large number of species with very few
individuals.

Summation of the heights of all columns will be exactly equal to the total number of

species present on the island.

www.FirstRanker.com
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12820823975 C
1282062576, D

The following set of minerals are useful for Rb-Sr radioactive age determination in rocks
A. Calcite and Kyanite

B. Calcite and Dolomute
C. Mica and K Feldspar
D. Hommblende and Tourmaline

1282062977 A
1282062975 B
12820623973, C
1282062380, 1

Earth climate that has been warming in the Last glacial period that ended in about---
A. 100-200 yrs ago
B. 1000-2000 yrs ago
C. 10000-20000 yrs ago
D. 100000-2000000 yrs ago

1282062381, A
1282062982 B
12820623983, C
12820623584, I

1s a preferred sampling method for the population with finite size.

A. Areasampling

B. Cluster sampling

C. Purposive sampling
D. Systematic sampling

1282062385, A
12820682356, B
1282062387, C
128206239585, D

wwwFirstRanker.com
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A. Itisused toavoid field work

B. It useful in formulating hypothesis of different environmental problems

C. Itis alternate method of approximation

D. Images can be mampulated by this technique

12820623839, A
12820682330 B
12820682391, C
12820623392, D

FART B

A student performed three measurements to determine the water density at 25°C to
four significant figures. The known density of water at 25°C to three sigmficant figures is
0.997 g/ml. The student obtained the following results.

Trial Density (g/mL)

1 0.9345

2 0.9623

3 0.9007

The measurements were

A sufficientl y precise but not accurate.

B. sufficiently accurate but not precise.
52 both sufficiently precise and accurate.
D neither sufficiently precise nor accurate.

1282062393 A
125820825545

1282082995, C www.FirstRanker.com
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You have solutions of NHs, HC1, NaOH, and HC2HsO: (acetic acid), all with the same
solute concentrations. Rank these solutions in order of pH, from the highest to lowest.
A. NaOH > NHz:> HC;H302> HCI

B. NH;>NaOH > HC;H:0:> HCI
C. NaOH > NH3;> HCI > HC2H;0:
D. NHs;>HC:H;0O:>NaOH > HCl

12820682397 A
12820623935 B
1282062393, C
1282062000, I

Which of the following molecules is expected to show a rotational spectrum: benzene,
CsHe;, water, H2O; boron trifluoride, BFz;, monodeuterated acetylene, CoHD?

A. CeHs, C:HD
B. H-0 only
C. H:0,BF;
| B H-.O, C.HD

1282062001, A
1282062002 B
1282062003, C
1282062004, I

Oddo-Harkins rule 1s all about.
A. Cerium anomaly,
B. Elemental abundances,
C. Redox reactions,
D. Elemental substitution

1282062005, A
1282062006, B
1282062007, C
1282062005, [

www.FirstRanker.com
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Trace elements obey the following law.
A. Boyle’s
B. Henry’s
C. Newton’s
D. Nemst’s

1282062003, A
1282062010 E
1282062011, C
12820623012 I

Biodiesel 1s an example of which of the 12 Principles of Green Chemistry?
A #1 — Waste prevention
B. #7 — Use of renewable feedstocks
153 #9 — Use of catalysis
D. #5 — Safer solvents

1282062013 A
1282062014 B
1282062015, C
1282063016, D

Methyl lithium exists asa

A. Monomer
B. Trimer
[, Dimer

D. Tetramer

1282063017, A
1282063018 B
1282062013, C
1282062020, D

www.FirstRanker.com
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P. In hot, dry climates, the C4 ¥4 & VSiRBBE PHNDrespiratt MU SARROK L™

Q. The affimity of PEP carboxylase for its substrate, HCO3 ™, 1s sufficiently high as

compared to rubisco.
R. C4 plants photosynthesize more efficiently at high temperatures than C3 plants.

S. Oxidative decarboxylation of the C4 acids occurs within the mesophyll cells.

A. QRand$
B. P,QandR
C. P,Rand$
D. P,QRandS

1282063021 A
1282063022 B
12820632023, C
1282062024, D

Phytochrome

P. 1s a blue protein pigment.

Q. shows photo reversibility.

R. has a linear tetrapyrrole termed phytochromobilin.
S. regulates nyctinastic movement of leaves.

A, PandS

B. QandR

C. QRandS
D. P,QRandS

1282062025 A
1282062026 B
1282062027, C
12820623028, 1

Chilling-resistant plants

A. greater proportion of unsaturated fatty acids than those of chilling-sensitive plants.
B. greater proportion of saturated fatty acids than those of chilling-sensitive plants.
C.  have mechanisms that limit the growth of ice crystals to extracellular spaces.

D. grow typically in tropical climate.

12826630254k

1282063030 B www.FirstRanker.com
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. Following four types of species were observed in a community:
P. Species A has a large effect on community because of its abundance.
Q. Species B has a large role in commumty out of proportion to its abundance.
R. Status of species C provides information on the overall health of an ecosystem.
S. Significant conservation resources are allocated to species D which is single, large
and instantly recognizable.

According to above description, species A, B, C and D are called respectively,
A.  Dominant, Keystone, Indicator and Flagship
B. Keystone, Flagship, Dominant and Indicator
C. Keystone, Dominant, Indicator and Flagship
D. Flagship, Dominant, Keystone and Indicator

1282063033, A
1282062024 B
1282063035, C
1282062036, D

The graph below illustrates a simplified description of the effect of disturbance on species
diversity. Which of the following best explains the graph?

Mumber of species

Low High
Disturbance

A.  Species diversity is lowest at intermediate intensities or frequencies of disturbance.
B. Stabilizing selection occurs at intermediate levels of disturbance.

C. The interaction of physical factors and biological competition increases diversity at
intermediate intensities or frequencies of disturbance.

D. Directional selection is enhanced by increased disturbance.

1282063037, A
1282062028, B
12826630382
1282062040, D

www.FirstRanker.com
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. Assume that an animal generates heat at a rate proportional to its volume and can radiate
heat at a rate proportional to its body surface area. Which of these amimals would be best at
maintaining 1ts body temperature in a cold climate?

A.  Mouse
B. Rabbit
. Pox
D. Bear

1282062041 A
1282062042 B
12820623042, C
1282062044, I

Sum of the squares of the deviations about mean is always ............

A ZEero

B. maximum
. minmum
D. one

1282062045 A
1282063046, B
1282062047, C
1282063048, D

Variance of a standard normal vanate 1s ..............

A, Zero

B. one

. variable

D. always more than one

1282062043 A
12820623050, B
1282062051, C
1282063052 D

www.FirstRanker.com
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mean of the remaining 100 students 1s

A 40
B. 42
. 44
D. 45

1282062053, A
1282063054 B
1282063055, C
1282062056, D

Which of the following statements about Karl Pearson’s coefficient of correlation is
correct?
A. It is independent of change in origin and scale
B. It 1s independent of change 1n origin but not of change 1n scale
28 It is independent of change in scale but not of change in origin
D It is neither independent of change in origin nor of change in scale

1282063057, A
1282063058, B
1282063053, C
1282062060, 1

In the testing of null hypothesis, a type-II error 1s commuitted when:
A A null hypothesis 1s rejected when actually 1t 1s true
B. A null hypothesis 1s rejected when actually 1t 1s not true
C A null hypothesis 1s accepted when actually it 1s not true
D A null hypothesis is accepted when actually it is true

1282062061, A
1282062062, B
1282063063, C
1282063064, D

www.FirstRanker.com
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Sensitivity of human ear is same at all the frequencies

Sensitivity of human ear is more in the low frequency range (20-200 Hz)
Sensitivity of human ear is more in the middle frequency range (1000-4000 Hz)
Sensitivity of human ear is more in the high frequency range (16000-20000 Hz)

oQwpe

1282063065, A
12820623066, B
1282063067, C
1282062068, D

Which of the following is the most effective barrier material for the control of noise?

A. Wood

B. Vegetation
G, Concrete
D. Plywood

1282062069, A
1282063070, B
1282063071, C
1282062072 D

Species composition and abundance in soil commumity is influenced by?
Cannibalism only
Intra-guild predation only
Cannibalism, intra-guild predation and trophic level ommivory
Nitrogen concentration in atmosphere

Snwp

1282063073 A
1282062074 B
1282063075, C
1282062076, D

Vermicomposting requires?

A, tapeworms

B. earthworms

C. — nematodes

D. protozoa www.FirstRanker.com
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1282063078, B
12820682079, C
1282063080. D
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Copiotrophs
A Consume elemental sulfur
B. Consume elemental phosphorus
& Consume labile organic carbon
D. Consume toxic elements

1282062081, A
1282063082 B
1282062083, C
1282062084, D

. Which one of the following can be called as ecosystem engineer

A grasshopper
B. butterfly

15 beetle

D. termite

1282062085, A
1282063086, B
1282063087, C
1282062088, D

.Which one of the following i1s not considered a primary nutrient in crop growth?

A Carbon

B. Nitrogen
% Phosphorus
8 Potassium

1282062083, A
1282063080 B
1282063091, C
1282062092, D

www FirstRanker.com
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Tellurium

B. Titanium

&, Hydrogen

D. Tantalum

1282062093, A
12820620394 B
1282062095, C
1282062096, D

Which part of the Earth is in the molten state?

A Mantle

B. Outer core
153 Inner core
D. Crust

1282062097 A
1282063098, B
1282063093, C
1282062100, I

What type of rocks form from layers of sand, mud or carbonate shells?

A Igneous

B. Metamorphic
E. Sedimentary
D. Batholith

1282062101, A
1282062102 B
1282062103, C
1282062104, I

Which of the following statement is correct?
Mass movements only occur on land
Mass movements only occur on the sea floor
Mass movements occur both on land and on the sea floor

oQwp

none of the above
www.FirstRanker.com
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12820623107, C
1282062108, D

What type of flow can transport fine-grained clay particles?
A laminar flow
B. turbulent flow
@ bed flow
D laminar and turbulent flow

1282062103, A
1282062110 B
1282062111, C
1282062112 D

. How many pi (n-) electrons are there in molecule A?

NC NO,
A

A, 6

B 10

[ ]2

D. 14

1282062113 A
1282063114 B
1282062115, C
1282062116, D

www.FirstRanker.com
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HH
H H
H I H P
Ph
A D
A A
B. B
i E
D. D

1282062117 A
1282062115 B
1282062119, C
1282062120, D

In a research on population dynamics of beetles, one student estimate that the population
size 1s 3000. Over the course of a month, he records 400 births and 150 deaths in the
population. Estimate intrinsic rate of natural increase (1) and cal culate what the population
size (N¢) 1s predicted to be in 6 months.

A. r1=0.083 and Ny = 4945
B. r=0.13 and Nt = 4000
C. r=0.05and N¢=3000
D. r=10.083 and Nt = 4000

12820623121 A
1282062122 B
1282062123, C
1282062124, D
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1N a pop ahiof ’ﬁe v }t':ﬂas the entiravpopEiastRanke.condi flerentwlasdtissoRahieebasimof
attribute A a:nd into ‘s’ different classes on the basis of attribute B. He then decides to employ
the chi square test to arrive at a statisticall y valid inference. The chi square in this case will
have how many degrees of freedom?

A. s

B. (r-1)s

& r(s-1)

D (r-1)(s-1)

12820683125 A
1282063126 B
1282062127, C
1282063128, D

A root mean square sound pressure of 20 Pa would correspond to a sound of how many
decibels on the decibel scale?

A 140 dB
B. 120 dB
&, 100 dB
D 80dB

12820621259 A
1282062130 E
1282062121, C
1282062122,

Which one is the water soluble vitamin?
A. Vitamin A
B. Vitamin D
¢. Vitamin B1_2
D. Vitamin E

1282062133 A
1282062124 B
1282062135 C
1282062126, D
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E. Sucrose

& Cellulose

D. Starch

1282063137, A
1282062128 B
12820621325, C
1282062140, D

Identify the mineral pair which exhibits isomorphous series.
A Calcite - Aragonite
B. Forsterite —Faylite
c. Quartz — Tridymite
D Graphite — Diamond

1282062141 A
1282062142 E
1282062142, C
1282062144 I

Which of the following represents the correct order of processes involved in sedimentary
rock formation?

A, Erosion, weathering, compaction, cementation, deposition
B Compaction, cementation, deposifion, weathering, erosion
= Deposition, cementation, compaction, erosion, weathering
D Weathering, erosion, deposition, compaction, cementation

1282062145 A
1282062146 B
1282062147, C
1282062148, D

Resistance to methicillin by staphylococei 1s mainly correlated with
Production of penicillin-binding protein 2
Alteration of cell wall structure
Production of beta-lactamases

Inactivation of drug by modification
www.FirstRanker.com
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1282062151, C
1282062152 D
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